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Curriculum Outcome
  (N1) Demonstrate an understanding of powers with 
integral bases (excluding base 0) and whole number 
exponents by: representing repeated multiplication using 
powers; using patterns to show that a power with an 
exponent of zero is equal to one; solving problems involving 
powers. 

  (N2) Demonstrate an understanding of operations on 
powers with integral bases (excluding base 0) and whole 
number exponents. 

Student Friendly: 

­



Day 27_ Pre Quiz.notebook

2

October 11, 2018

Copyright
*Image taken from "Math Makes Sense 9", 
page 65, copyright to pearson education 
Canada



Day 27_ Pre Quiz.notebook

3

October 11, 2018



Day 27_ Pre Quiz.notebook

4

October 11, 2018

a) 
b) 
c) 
d) 
e) 

1) Complete the following chart

Power Base Exponent
Repeated

Multiplication

Standard

(Evaluate) 

(­3)5 

 (­4) (­4) (­4) 

­26 

­7 3

­(­5)4 

Warm Up  Name: ________

2) Express in power form and THEN evaluate 

­ (­2)(­2)(­2) (­3)(­3)(­3)(­3) 

3 ) Write the following as a base of 5  

15 625

4 ) Evaluate the following 

a)  (­18)0  b) ­180  c) ­(­18)0

5 ) Write the following in power of ten form 

57 203= _______________________________________________

6 ) Write the following in standard form 

  (2 x 106) + (3 x 105) + (2 x 103) + (1 x 100) =  _________________

answer: 

= ___ = ___ = ___
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a) 
b) 
c) 
d) 
e) 

1) Complete the following chart

Power Base Exponent
Repeated

Multiplication

Standard

(Evaluate) 

(­3)5  ­3 5 (­3)(­3)(­3)(­3)(­3) ­243

(­4)3 ­4 3  (­4) (­4) (­4)  ­64

­26  2  6 ­ (2)(2)(2)(2)(2(2)) ­64

(­7)3 ­7 3 (­7)(­7)(­7) ­343

­(­5)4  ­5 4 ­ (­5)(­5)(­5)(­5) ­625

Warm Up  Name: ________

2) Express in power form and THEN evaluate 

­ (­2)(­2)(­2) (­3)(­3)(­3)(­3) 

3 ) Write the following as a base of 5  

15 625

4 ) Evaluate the following 

a)  (­18)0  b) ­180  c) ­(­18)0

5 ) Write the following in power of ten form 

57 203= _______________________________________________

6 ) Write the following in standard form 

  (2 x 106) + (3 x 105) + (2 x 103) + (1 x 100) =  _________________

answer: 

= ___ = ___ = ___

= ­(­2)3(­3)4

= ­(­8)(81)
= 648

56
3125
625
125

5
5

5
5

5

1 ­1 ­1

(5 x 104) + (7 x 103) + (2 x 102) + (3 x 100) 

2 302 001

5

2

2

3

1

1

25
5
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Class/Homework

Page 66­68

3 (a, c, e)
4 (a, c, e, )
5 (e, g)

10(all)
15
16(all) 
19

SHOW WORK

8 (a, c, e) 8 (b,d,f)

3 (f,h,j)
4 (d,f,g,h )
5 (b,d,f,h)
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